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New topics (see diary)
Topics covered are in bounds

Boxed answers agree with
TurningPoint answers

Points agree with
TurningPoint points

Points total to 100

Cover the look ahead



QUIZ
FOLLOWS



i[/c)$(5t3+2t_l)dt

dx

(a)5x3 4+ 22— 1

(b)5t3 4+ 2t —1
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o . U T P dt}

(a) - [(F@)® - (F@)?

(b) = [(F(®)) — (FG2))]

(©) = [(FE™)(5e*) — (F(22))(20)]

(d) none of the above
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nth midpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

~ [1 (/n)—(1/(2n
© & Bl

3

(c) Z [ Hl+(3/n) (1/m)]

(d) none of the above
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n—1

(a) Z F] [(2-|— (4j/n))5] nth midpt Riem. sum
7=0 n 6 .
for/2 x> dx
n—1
(b) > E] (24 (4§/n) — (4/(2n)))°]
7=0

n—1
(©) X [} [+ @im + @@’
§=0

(d) none of the above
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CURRENT (INT BY SUB)

/8 " 2lsin(23)] da

area between curves

area by slices
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